a+b-2+ab (HKMO Classified Questions by topics)
1993 FI1.4

£3-2J2=\2-Jd » & 4 iz o

If Y3-2v2 =+/2-+/d, find the value of d .
1999 HG3

F Iog(\/3+\/§+\/3—\/§) eiE o
Find the value of Iog(\/3+\/§ +\/3—\/§j.

Created by Mr. Francis Hung

Let x, y and z be positive integers and satisfy +/z —+/28 = Ix - \/V .

Find the value of x + y + z.
2011 HI7

# 712 -\13-2V12 chit -
Find the value of \/ 7-12-413-212 .

2013 HI1

i V/94-242013 -

2001 FG2.1 Simplify +94-2+2013.
2 _ 2013 FI3.1, 2015 F14.2
C A x=47-4/3 % W=a’:ﬁa ENIE o 1 1
X —4x+3 . B:(7+4J§)5—(7—4J§)5 e
Given that x =+/7 — 443 and % =a, find the value of a . \/§ N
X" —4X+ 1 1
2004 HIS . (7+aV3p -(7-4V3p
Determine the value of § = .
% E=\12+643+12-643 » & E ¢his - V3
2015 FG3.1
Let £=+12+6+/3 + 12— 643, find the value of E . iR fi
- B .
2005 HI3 oM 4;/ j/_ \/ NG
x X Simplify V3++/5++/3—-+/5.
Fox AP HE R E (\/5+ 2\/6) +(\/5— 2\/6) =10 » £ x DB F WD 2016 FG4.3
3 3
I 2 _ 2
" 'ﬁ?&c=(4+\/EZ+(4 JE)S s -
X X -~
If x 1s a real number satisfying the equation ( S5+ 2\/6j +(\/5 — 2\/6j =10, (6 + \/%)2 - (6 - \/gﬁ
3 3
find the smallest possible value of x . . 4+ 15)2 + (4 ~J15)
Determine the value of real number ¢ =
2006 HI1 (6 \/%ﬁ (6 \/ﬁ)g
+ — j—
® 2044300 =X +.y 2 w=x2+)2> f ow i o 2017 FI3.2

find the value of w .

2009 HGS J
. 64248 +1/6—-248
WXx~yE oz 5T BNz -V28=Ax—Jy o £ xtytz hig o Determine the value of b = > .

Let /20++/300 =/ + \/§ , where x and y are rational numbers and w = x? + ), - \/6 +248 + \/6 28 .
0= HE °
> B
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Answers
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250 16 J6 -2 J61-+/33 2
2015FG3.1 | 2016FG43 10 ra
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